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Ex 3.2
a) BL& & 60T _aumMImE& ellemL_wierfl.

Gt 1.
7-60T &&IIJ 6T600T
a) 14

b) 49

c) 21

d) 28

edleoL:

Caeite 2.

64 eTeoT LIS 60T FSIT 6T600T
a4

b) 16

c)8

d) 32

edleoL:
c) 8

Gaeitedl 3.
24 6T6OTLIS FGIIT 6T600T6O0TIT ?

eflemL:
@) 6LEM6EV. 24 6TEUTLISI FSHIT 6T600T 3J6V6V.

Gaeitedl 4.
6(IH 6T600T QUIHSHH60TITEL BN LILIG FSHIT 6T600T
LG LD.




edleoL:
/B 6T600T600T IT6V

Gaeite 5.
Sl QUL 196wl BITLILIS.

Ga6ire 6.
1, 3, 6, .15, , 28

edlevL:
1,3,6, 10 ,15, 21,28

InText Questions
L& &L 53
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Gaeitedl 1.
&6 BITLIL&emer eTevorevol] 6T(LD& 6 LD.
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Cs:ema 2.
FSIT 6T600TSH 66T UL L LAl 6LD.

2 3 4 5 6 7 8 9 10

X
11 2 3 4 5 6 7 8 9 10
4 6 8 10 12 14 16 18 20
6 9 12 15 18 21 24 27 30
8 12 16 20 24 28 32 36 40
(10 15 20 25 30 35 40 45 50
12 18 24 30 36 42 48 54 60
14 21 28 35 42 49 56 63 70
;16;24‘32:40543:56‘64572580.
18 27 36 45 54 63 72 81 90
120 30 40 50 60 70 80 90 100
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a.1-3+5+7+9+11=

edlevL:
36 =6 x6=06°

b.1T+3+5+7+4+11+13=

edleoL:
49=7x7=7?

c.1+3-5+7+9+ 13 +15=

eNleoL:
64 =8 x 8 = 82



